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HERER
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HET
HKEEYM T
BEYREL
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REHET
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HERRER

LRy

LA L1 LA'IL2 LA L3 LA L4 LA'ILS | IR BaE s
I% I 5] #A ki t#=
ERHE |[EmtT i FrEIHEA Ex) m’ -
F—T iR h ) m’ 486 490
BEEL AL m’ 299 300
ot AL m’ 132 130
REBRLT P+ EmEmER HRp:1:1.2 m’ -
Bt EmEmER 1:15 m’ 896 900
EET HEE—k m’ 896 900
BT ET EWREERE L=6km m 60 60
PREET Ty iR T H1.882~2972 m’ 30.8 31
H1.300~1.640 m’ -
BeKT AiET TLExr RUEEIE [BF 1-B450-H295 m 80.8 81
US1-B300-H300 m 46.6 47
US3-B300-H300 m 36 36
HET BE PK1-RC2-D400 m 2.7 3
kT £ K i
SM-B600-L600-H700 17l 1 1| XS
SM-B800-L800-H800 17 1 1| XS
B K
SM-B800-L800-H1500 &R 1 1| XH&E
hRSEETHEKH | SM-B800-L800-H520 &R 15 15
SM-B800-L800-H650 [E17i 6 6
SM-B800-L800-H1180 PR 3 3
bE3 T 1.5 (5171 2 2
BRHR (HKT #HhTFHIKT #hFHEK ¢ 200 m -
O—)LRAvE—  |A—LEHvE— 500%! m 1,939 1,939
FHOT FHOA [Elzis 1 1| Z#hs
FHoB &R -
=TT =Tl US1-B240-H240 m 9.8 10
US1-B300-H300 m 35 4
#FEaH)—k A & -
B & 1 1
c ® _
ERWER |[BEYHRET |[SkiEE B800-L800-H800 L0 -
h=FL-LEE m 1,112.6 1,113
FERZERE FRHIAE fEal3in 2 2
RRRa—> (EYE) A S 206 206
BIRFEITHE S 28 28
XEfREE (K [0 -
FAI7 IV m 1939 1,940
EHEERRERIE m2 388 388
HEEhRFR TR m3 78 78
HE HET FRI7IVNGHET | RE A EAs t= 5om| m’ 21,001 21,000
=B BAABEAS20) = som| m’ 21,806 21,810
LB BARSEENE  t=10om| m’ 22,127 22,130
TR H4EH5YLr—5> RC-40 t=320m | m” 22,553 22,550
YIBIA—A—LA(FY#) BT HBEAs  Fi950m m’ -
YIEIA——L ALY |t HEAs  TH 3cm m’ 2,040 2040| &R
BESHE (ERE) |TRAI7ILMRET [HKERE EAE B EAs t= 4om| m’ 27238 273
o I &t E I RAs t= 4om| m’ 27238 273
Bk S —hBh7K m’ 268.9 269
1R AR AL PRI R jETi 2| 21.99m
S =B (B m3 0.016 0.016
S FfEE m3 0.033 0.033
i BEHEMER [Elvi 2
(A1-A2BEED) [TV YY—MAE  [3V0Y—MEARE Cck= 24N./mm2 m’ 91.0 91
R ERE m’ 132 13
SBHEE (Z#a5)
DD kg 240 24
D13 kg 1,745.0 1,745 SD345
D16~D25 kg | 11,5600| 11,560| SD345
&Et kg | 13329.0 13,329 SD345
JLXZE T=20mm m? 44 4




HERER

LA

LA Ib2

LA L3

LA IL4

LA LS

WAtat

% T 3 451 i ) 2R e | B
B 4t T=20mm m’ 225 23
s RRAFVIRBETE [FRERIAYHAR/ AT 40A L=170 X 420 42
Foh—FxvT 40Ax200 & 420 42
BERARAR m’ 249.9 250
T EE m 21.1 21
BA 18— X 52.0 52
HORIN— X 8.0 8
FI7— X 52.0 52
SEA Bithdt m’ 0.8 1
IZvIFEEM m 21.1 21
+T A2IBEE®E
RYE m3 1.3 1
BREREEL m3 152.3 152
BRiAREL m3 355.3 355
B R m3 -
BERL m3 2.5
hoEt 2.5
EET
Bt km m’ 87.6 88
WET HEE—k m’ 87.6 88
ShET TAT7ILNRET | KB BHIEAs t= Som| m’ 100.0 100 | s 2aigzs
(HB&HTE) +EpRAE BERENE t= Som| m’ 100.0 100
TERE BAEITYv—F RC-40 t=20cm | m’ - -
BaIT BaL FAH—T m 1,958 1,960
FHEET ERMAIRAET HA—KFL—1L Gr-A-2B m 29.1 29
Gr-A-4E m 869.7 870
Gr-Am-4E m 19775 1,978
Gr—Am-Mo m 50.0 50
BrLEART 5L AR A4 m -
ERMAEMEST ERAEYT R R BEHRR m 1948 1,948
avo)—k—IL m 1948 1,948
FYDIFEMN 1 1 1
FYDITERE2 1 1 1
avh—k—)L  |BREER m 1160.8 1,161
EX SR LE AR ® 509.0 509
REMmET BURFEZ TdhRAER) x 49 49
BEGrIM A (EHE) X 31 31
PG A (EE) X 150 150
EEYAES) x 4 4
EEYAEe) x 4 4
XE#HRT REfRT RAVMEREHR(TYH) [EHRIBRE MBARE, B, 15cm | m 824.9 820
ERSMER MBBES 5. 20m | m 4124.4 4,120
RAVMRRER(EYR) | ERBFRE MBLHEE. B, 15m | m 824.9 820
EIRIERE MBEELR. B, 20cm m - -
REZT |[R&KT R ERBhEEM T REBA—RL—ILERE |F15% m 1240.0 1,240
REBAH—FL—ILi85% |BREREER m 825.0 825
[ m 2,065
BRELIZVX FEER YL m 2062.0 2,062
BEIREBRE | BEIR t=10mm e - -
t=22mm 54 57.0 57
A EWE HIRRHRR A —FL— LB TR t 146.0 146
HIARHRR A —FL— L& E | A8 t 97.0 97
Bkt FriEit=22mm t 920 92
S RASE (E8) t 146
M EERE (Fri#) t 335




n g

15 =] 3] % By % =B BEETEHE i
7 T m° 485.6
FrendERl (£8) m® - CA1
F—T A (L) m° 485.6 490|CA2
BIE RYE m® - CA3
2 m? 431.0 430
B PR 2% £ (W<1.0m) m® - BA1
R L (WA 0Mm=W<25m) | m? - BA2
R L (W<2.5m=W<4.0m) | m° - BA3
BREKEE LT (40m=W) m® - BA4
B4R 2% £ (W<1.0m) m® - BA5
BAE L WA 0M=W<25m) | md - BA6
PR L (W<25m=W<4.0m) | m° - BA7
BIARE L (40m=W) m® - BAS
fiEER m® - BA9
mERL m° 298.9 300|BA10
hoyREL m? 132.1 130BA11
ZHEHERI PtiEm(ER:1:1.2) m? - CL1
BEikm(1:1.5) m? 896.4 900 BL1
EED—+ m? 896.4 900
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JOv iEgEET

1. X1 T
(1) PR
1/2% (1.6+3.1) X5.000
1/2% (1.6+3.1) X 5.000
1/2% (1.6+2.0) X 1.500

1/2% (1.6+2.8) X 2.500

(2) BRL
1/2% (0.7+1.6) X 5.000
1/2% (0.7+1.6) X 5.000
1/2% (0.7+0.9) X 1.500

1/2X% (0.7+1.4) X 2.500

(3) 7%t

31.7-15.33,70.9

11.75

11.75

2.70

5.50

31.70
31.7

5.75

5.75

1.20

2.63

15.33
15.3

14.67
14.7




A=1. 6m2
PRIE Y

MEETOY VEERETTH

RFHEX

J o HifEE 1=14000

5000

5000

531 4048 4211421, 4510
V34, 685 14 V34, 869
v34.527 | A - 45
= g
S Q 3
S o
= & 2 2 3
g g g & 8 =
3 g g
E
g <
g
S T
S | l
1 V32,636
V32,027

5000

5000

1513

2582

V34,927
2733
g S V34,031
E E
g g
7 7] g
N
<o k| P
S S | =
I A
Vv33.2 V33, 244

1500

2500

1409

A=1,3m2
HARE

BREL

HARE

983

BRL

#BRL

2500

X (O)RTEEREATEERY

1002

RARE

1287

EARE



2. avy)—rJoysT
(1) fiveyr ($RE35cm)
1/2X0.531X2.795
1/2X (2.795+2.972) X 4.048
1/2X0.421X2.972
1/2X0.421X2.291
1/2X (2.291+2.496) X 4.510
1/2X0.069 X 2.496
1/2% (1.816+1.882) X 1.500
1/2X0.082%1.882
1/20.082<1.882

1/2 % (1.882+0.880) X 2.500

(2) Rz 7U—bk (18-8-25)

(4.051+4.514+1.514+2.733) X 0.839x0.100

(3) MRhA -BA= 7Y —k  (18-8-25)

30.78X0.100

(4) FEiAkt
1/2% (1.3+1.4) X5.000
1/2% (1.1+1.2) X 5.000
1/2% (0.8+0.9) X 1.500

1/2% (0.9+0.7) X 2.500

0.74

11.67

0.63

0.48

10.79

0.09

2.77

0.08

0.08

3.45

30.78
30.8 m*

3.08
3.1 m?

6.75
5.75
1.28

2.00

15.78
15.8 m®




3. EmET

(1) = 27U—k (18-8-40)

1/2%(0.100+0.520) X 0.200 X (5.000+5.000+1.500+2.500) = 0.87
0.5200.100 % (5.000+5.000+1.500+2.500) = 0.73
= 1.60

i 1.6 m3

(2) FaEtr (80mmik)

0.720 X (5.000+5.000+1.500+2.500) = 10.08
- 10.1 m?
JOy O BRI ERIER
5.00 + 5.00 + 1.500 + 2.500 = 14.000 m

JOvOBI RFER
4,048 + 4.540 + 1.513 + 2.582 = 12.65m
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2TX
B A @ Al R o® mmom B CLNE o@m o=
B T
UL A& BF I -B450-H295 m 80.8 81
US1-B300-H300 " 46.6 47
US3-B300-H300 " 36.0 36
US3-B400-H400 " -
BT
EET PK1-RC2-D400 m 2.7 3
st 6400 " -
£k T
SKk#T SM-B400-L400-H500 ®&iFh - BRNERE
SM-B400-L400-H500 &iFR - EWMERSE
SM-B600-L600-H500 - BRNERE
SM-B600-L600-H700 1 1 B ot
SM-B600-L600-H1000  ~ -
SM-B800-L800-H800 1 1 B ot
BESE/KtT SM-B800-L600-H520 -
SM-B800-L800-H1500 1 1 B ot
g ekt | SM-BS00-L800-H520  » 15 15
SM-B800-L800-H650 6 6
SM-B800-L800-H1180  » 3 3
G 1.5 " 2 2
HTHEKT
T HEK ¢ 200 m -




KEEEY) T F 2/2
2T
B @ @ 3 g om omuwom o® SAEER g
O—)LFHyE—
A—IL KAy E— 500%! m 1,939.4 1,939.0
FnOoxT
HEAOA Bz 1 1
FrOB " -
=TI
=-Ti& US1-B240-H240 m 9.8 10
-CTiEE US1-B240F3 ® 3.5 4
WFaoy—1+ B & 1 1




f & T ERERE
RYFTJ1)a—L BFI-B450-H295
i {1 Al = IR - B A {81 B: | = ER - B
No. 47 + 0.2 No. 47 + 14.5 -
No. 55+ 15.4 No. 56 + 19.4 -
No. 66+ 0.4 No. 66 + 11.2 -
No. 85+ 0.0 No. 86 + 10.8 -
No. 116 + 18.5 No. 118 + 0.0 21.5
No. 121 + 0.7 No. 122 + 15.8 35.7
No. 135 + 13.5 No. 136 + 0.9 7.5
No. 136 + 1.9 No. 136 + 17.2 16. 1
N B 80. 8 I\ 5 -

= &

op

iOE R

80.8




i IERFE
UZ!EI%  US1-B300-H300
E 1l b R IR - E% a 8 | =3 £E - B
No. 167 + 13.0  ~ No. 170 + 0.0 46. 6
/N B 46.6 /Iy H -
E A &t E K 46. 6




g T

IEREAS

UZ!EI;E  US3-B300-H300

v {81 Bi| =1 EE - A% ¥ {81 pil| =1 & - B

No. 177 + 8.7 ~ No. 179 + 5.0 36.0
N & 36.0 I 5 -
E A & i &£ E 36.0




f & T IERAAE
UB!EI%E  US3-B400-H400
E 1 | =R IR - E% a il | =3 £E - B
86 +10.8 ~ No. 86+ 16.7 10.5
/N 5 10.5 7y B _
E & & §f & K 10.5




BET PKI1-RC2-D400

EREHE

xE ] pil = ER - BR a 8 bl = TR - B

No. 53 + 1.5 - No. 168 + 1.4 1.3
No. 57 + 0.0 -
No. 61+ 10.0 -
No. 67 + 1.5 -
No. 67 + 1.5 -
No. 74 + 0.0 -
No. 81+ 10.0 -
No. 81+ 10.0 -
No. 90+ 14.9 -
No. 94 + 9.9 -

No. 98 + 0.0 1.4

No. 123 + 6.0 -
No. 136 + 1.5 -
No. 140 + 13.0 -
No. 147 + 10.0 -
No. 165 + 5.0 -
No. 172 + 10.3 -

N H 1.4 i\ B 1.3

E A A B E K 2.7




M ¢ 400 ERERE
= ] bl = EE - B =] Ll bl = EE - B
No. 57+ 0.6 No. 58 + 19. 38.8
No. 59+ 0.6 No. 61+ 9. 48.8
No. 81 +10.7 No. 83+ 19. 48.9
No. 84+ 0.8 No. 85 + 19. 38.6
No. 90 +15.5 No. 92+ 9. 33.9
No. 94 +10.5 No. 96 + 4. 33.9
No. 96+ 5.6 No. 97 +19. 33.8
No. 98+ 0.6 No. 98 + 14. 13.8
No. 101 + 15.6 No. 102 + 19. 23.8
No. 103 + 0.6 No. 104 + 1. 20. 4
No. 104 + 2.2 No. 105 + 4. 22.2
No. 105 + 5.6 No. 106 + 9. 23.8
No. 106 + 10.6 No. 108 + 9. 38.8
No. 108 + 10.6 No. 110 + 9. 38.8
No. 110 + 10.6 No. 112 + 19. 48.8
No. 113 + 0.6 No. 115 + 9. 49.0
No. 115 + 10.6 No. 117 + 19. 49.1
No. 118 + 0.6 No. 119 + 1. 20.8
No. 119 + 2.6 No. 120 + 9. 26.8
No. 120 + 10.6 No. 121 + 19. 28.8
No. 122 + 0.6 No. 123 + 5. 24.8
i\ &t 706. 4 N it -




MErE  ¢400 IERARE

p.o {1 S8 =1 EE - B A {1 B:1| = EE - B
131+ 0.6 ~ No. 133+ 9.4 48.8
. 133 +10.6 ~ No. 136 + 0.9 50.3
. 165+ 5.6 ~ No. 167 + 19.4 53.8
. 168 + 0.4 ~ No. 170 + 9.6 49.2
. 170 + 10. 4 ~ No. 172+ 9.7 39.3
. 172 +10.9 ~ No. 174 + 19.6 48.7
175+ 0.8 ~ No. 177+ 9.4 48. 6
. 177 +10.6 ~ No. 178 + 19.4 28.8

h H 367.5 N &t -

E A & it &€ E 1,073.9




ST ERRE
SNM-B400-L400-H500 (iR fr E =)
i {81 B: | = IR - B A {81 B:| = ER - B
No. 78+ 0.0 -
No. 147 + 10.0 -
No. 158 + 0.0 -
U\ B - N =t _
E A & it &€ E -




SEKHT ERAE
SM-B400-L400-H500 (EfRTE =)
y3 {81 B: | = IR - B A {1 B:| = ER - B
No. 165+ 5.0 1
No. 185+ 0.0 1
No. 190 + 10.0 1
I g 3 I\ it -
E A & it &€ E 3




SEKHT ERAE
SM-B600-L600-H500 (2T E =)
i {81 B: | = ER - B A {81 B:| = ER - B
No. 49+ 0.0
No. 81+ 10.0
I g - I it -
E A & it &€ E -




SEKHT ERAE
SM-B600-L600-H700 (X fr E =)
i {1 B:| = IR - B A {81 B:| = ER - B
No. 90+ 14.9 1
No. 94+ 9.9 1
No. 123+ 6.0 1
No. 136 + 1.5 1
No. 165+ 5.0 1
I E 5 N 5 _
E A & it &€ E 5




SEkHT it RERE
SM-B600-L600-H1000 (B2 f E )
E il Al = ER - E% A il i = EE - B
No. 57+ 0.0
I - I -
E A &t E K -




SEkHT it RERE
SM-B800-L800-H800 (E i E %)
E il A = ER - E% A 1l ] = EE - B
No. 86+ 17.0
O - I it -
E A &t E K -




REEKHT

IEREAS

B800-L600-H520

=

il Al =

ER - B

A

il

bl

=

ER - A%

No.

57 +

0.0

No.

59 +

0.0

No.

61 +

10.0

No.

67 +

1.5

No.

81 +

10.0

No.

84 +

0.2

No.

86 +

0.0

No.

90 +

14.9

No.

92 +

10.0

No.

94 +

9.9

No.

96 +

5.0

No.

98 +

0.0

No.

98 +

15.0

No.

101 +

15.0

No.

103 +

0.0

No.

104 +

1.6

No.

105 +

5.0

No.

106 +

10.0

No.

108 +

10.0

No.

110 +

10.0

No.

113 +

0.0

14

I

anj
—+




B EKHT IERAE
B800-L600-H520

x= il ] R ER - B a 8 ] R £E - B
No. 115+ 10.0 1
No. 118+ 0.0 1
No. 119+ 2.0 1
No. 120 + 10.0 1
No. 122+ 0.0 1
No. 123+ 6.0 1
No. 131+ 0.0 1
No. 133 + 10.0 1
No. 136 + 1.5 1
No. 165+ 5.0 1
No. 168 + 0.0 1
No. 170 + 10.0 1
No. 172 + 10.3 1
No. 175+ 0.2 1
No. 177 + 10.0 1
No. 179 + 0.0 1

h B 16 uN it -

E A &t E K 30




REEKHT

IEREAS

B800-L800-H1500

=

] Al =

ER - B

=]

1

bl

=

ER - A%

No.

57 +

0.0

No.

59 +

0.0

No.

61 +

10.0

No.

67 +

1.5

No.

81 +

10.0

No.

84 +

0.2

No.

86 +

0.0

No.

90 +

14.9

No.

92 +

10.0

No.

94 +

9.9

No.

96 +

5.0

No.

98 +

0.0

No.

98 +

15.0

No.

101 +

15.0

No.

103 +

0.0

No.

104 +

1.6

No.

105 +

5.0

No.

106 +

10.0

No.

108 +

10.0

No.

110 +

10.0

No.

113 +

0.0

14

N




BRI Sk T IEREAS
B800-L800-H1500
E il =R EK - B =
No. 115+ 10.0 1
No. 118+ 0.0 1
No. 119+ 2.0 1
No. 120 + 10.0 1
No. 122+ 0.0 1
No. 123+ 6.0 1
No. 131+ 0.0 1
No. 133 + 10.0 1
No. 136 + 1.5 1
No. 165+ 5.0 1
No. 168 + 0.0 1
No. 170 + 10.0 1
No. 172 + 10.3 1
No. 175+ 0.2 1
No. 177 + 10.0 1
No. 179+ 0.0 1
I B 16 5

op

OE K




B R 5 Bt SR K g IERAE
B800-L800-H520
= il | R EE - B A 1l A = £E - B
No. 53+ 1.5
No. 61+ 10.0
No. 67+ 1.5
No. 74+ 0.0
No. 81+ 10.0
No. 98+ 0.0 1
No. 117 + 10.8 1
No. 124 + 18.8 1
No. 133 + 15.5 1
No. 140 + 13.0 1
No. 145+ 0.3 1
No. 147 + 10.0 1
No. 151 + 0.3 1
No. 152 + 10.3 1
No. 154 + 0.3 1
No. 157 + 0.2 1
No. 160 + 8.6 1
No. 168 + 1.4 1
No. 172 + 10.3 1
No. 177 + 8.4 1
U\ & 15 N 5 -
E A & E E 15




iR 5 B e SR K

IEREAS

B800-L800-H650

i {81 B: | = ER - B A {81 Al = ER - B
No. 89+ 0.4 1
No. 95+ 1.3 1
No. 104 + 10.1 1
No. 110 + 12.2 1
No. 180 + 0.9 1
No. 184+ 0.1 1

I E 6 N 5 _
E A & it &€ E 6




F o Bt e SR K ERRE
B800-L800-H1180
y3 {81 B: | = IR - B A {81 B: | = ER - B
No. 53+ 2.0
No. 61+ 10.0
No. 67+ 1.5
No. 74+ 0.0
No. 81+ 10.0
No. 98+ 0.0 1
No. 140 + 13.0
No. 147 + 10.0
No. 168 + 1.4 1
No. 172 + 10.3
No. 177 + 8.4 1
I H 3 N =t -
E 5 & ¢ & E 3




E-dval RS

1.5
i {81 B: | = ER - B A {81 Al = ER - B

67+ 1.5 -
74+ 0.0 -
81+ 10.0 -

. 140+ 13.0 1

. 147+ 10.0 1

I E 2 I £t _

E &

op

iE R 2




T HEKT ¢ 200 IERAE
= il | R ER - B E=] 8 ] R EE - E%
No. 57+ 0.6 No. 58 + 19.4 38.8
No. 59+ 0.6 No. 61+ 9.4 48.8
No. 61+ 10.6 No. 63+ 6.9 36.3
No. 67 + 2.1 No. 70+ 4.1 62.0
No. 81 +10.7 No. 83+ 19.6 48.9
No. 84+ 0.8 No. 85+ 19.4 38.6
No. 90 + 15.5 No. 92+ 9.4 33.9
No. 92 + 10.6 No. 93+ 10.1 19.5
No. 94 +10.5 No. 96+ 4.4 33.9
No. 96+ 5.6 No. 97+ 19.4 33.8
No. 98+ 0.6 No. 98 + 14.4 13.8
No. 98 + 15.6 No. 101 + 14.4 58.8
No. 101 + 15.6 No. 102 + 19.4 23.8
No. 103 + 0.6 No. 104 + 1.0 20.4
No. 104 + 2.2 No. 105 + 4.4 22.2
No. 105 + 5.6 No. 106 + 9.4 23.8
No. 106 + 10.6 No. 108 + 9.4 38.8
No. 108 + 10.6 No. 110 + 9.4 38.8
No. 110 + 10.6 No. 112 + 19.4 48.8
No. 113 + 0.6 No. 115+ 9.4 49.0
No. 115 + 10.6 No. 117 + 19.4 49. 1
N it 781.8 N & -




T HEKT ¢ 200 IERAE

= il | R ER - B E=] = EE - E%
No. 118 + 0.6 No. 119 + 1.4 20.8
No. 119 + 2.6 No. 120 + 9.4 26.8
No. 120 + 10.6 No. 121 + 19.4 28.8
No. 122 + 0.6 No. 123 + 5.4 24.8
No. 128 + 11.0 No. 130 + 19.4 48. 4
No. 131 + 0.6 No. 133 + 9.4 48.8
No. 133 + 10.6 No. 136 + 0.9 50.3
No. 165 + 5.6 No. 167 + 19.4 53.8
No. 168 + 0.4 No. 170 + 9.6 49.2
No. 170 + 10. 4 No. 172+ 9.7 39.3
No. 172 + 10.9 No. 174 + 19.6 48.7
No. 175 + 0.8 No. 177 + 9.4 48.6
No. 177 + 10.6 No. 178 + 19.4 28.8
No. 179 + 0.6 No. 180 + 0.0 19.4

N B 536.5 N & -

E A &t E K 1,318.3




O—J)LFAvy%&—  500% ERERE
= fl 3 5 EE - B e fl s 5 EE - B
No. 47+ 0.0 No. 53+ T No. 67 + 1. No. 73+ 19.6
No. 53+ 7.9 No. 61+ 0. No. 74+ 0. No. 81+ 9.6
No. 61+ 10.4 No. 67 + 1. No. 81 + 10. No. 88 + 14.2
No. 110 + 12.8 No. 117 + 10. 138.10 [ No. 89 + 0. No. 95+ 0.9 120. 10
No. 117+ 11.0 No. 124 + 18. 147.30 [ No. 95+ 1. No. 97+ 19.6 58.10
No. 124 + 19.0 No. 127 + 10. 51.10 [ No. 98 + 0. No. 104 + 9.5 129. 20
No. 127 + 10.8 No. 133 + 15. 124.20 [ No. 104 + 10. No. 110 + 11.8 121.50
No. 133 + 15.9 No. 140 + 12. 136.80 [ No. 179 + 5. No. 180 + 0.2 15.20
No. 140 + 13.4 No. 144 + 19. 86.60 [ No. 180 + 1. No. 184 + 9.5 88. 55
No. 145+ 0.4 No. 147 + 0. 48.90 | No. 184 + 10. No. 190+ 0.0 109. 70
No. 147 + 10.4 No. 150 + 19. 69. 60
No. 151 + 0.4 No. 152 + 0. 29.20
No. 152 + 10.5 No. 153 + 19. 29.20
No. 154 + 0.4 No. 156 + 19. 59.15
No. 157+ 0.4 No. 160 + 8. 67. 65
No. 160 + 8.8 No. 168 + 0. 152.05
No. 168 + 1.5 No. 172 + 0. 88. 20
No. 172 + 10.4 No. 176 + 0. 69. 00
I H 1,297.1 I H 642. 4
¥ &5 & i E E 1,939. 4
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OB ERIFE
p. {1 Al =1 ER - B A {1 B:| = EE - B
No. 152 + 7.9 1
/I B 1 I =t _
E A & it &€ E 1




- CTEHRE — E X
= THEKE HF
k. A Al o= US1-B240-H240 avyy—+k
ER (m) = A B C

p.l No. 49 + 0.0 - -
i No. 53 + 1.5 - -
ik No. 64 + 1.5 - -
i No. 67 + 1.5 - -
ik No. 70 + 10.0 - -
i No. 74 + 0.0 - -
ik No. 74 + 0.0 - -
i No. 78 + 0.0 - -
ik No. 81 + 10.0 - -
pid No. 89 + 4.5 9.8 3.5 - 1 -
ik No. 140 + 13.0 - -
pd No. 140 + 13.0 - -
ik No. 147 + 10.0 - -
i No. 147 + 10.0 - -
ik No. 152 + 7.9 - -
pid No. 158 + 0.0 - -
ik No. 166 + 5.0 - -

&t 9.8 3.5 1 -




EMEET ;
2 IR

' 3l T R By % B RHHLERE B =
EEERMET  REHEE BF1-B350-H235 = m -
" BF1-B450-H295 | -
" US1-B240-H240 | -
Sk | B500-L500-H500 | AR -
" B600-L600-H400 | -
" B600-L600-HG00 | -

B - b m 1,112.6 1,113

L oa  RESS ! 28.9 29 | 5% s/

S L] A 2.0 2
ms (£E) | EHEILHU—F | 03 3.4 3 lsm " /s
ns (Xi) | RYIvT t 0.63 0.6 | 5o %k s

KR Fa—v (EYR) #x PN 206 206

L9 RESS t 0.4 0.4 | 53" e/

WEBREME | RES~ & 0.7 1 s okg/k
X E#R#EE m - -

FRI 7R (- B y8-R) m 1,939.0 1,940 |£=20cm
SRR m2 387.8 388 w=20cm
SRR m3 71.6 78 | oms0en
90-M 3 E53:)] t - -

- E SRR m® - -

90-M" 3 i t 3 3

wWh-MLn & 3.7 m® 3 3




F-Mu-h BE OE R R OE
RXbo—2 (YR BE RBE
3] Al = B EOE BOO® 1
E |[No. 47 ~ No. 59 + 85 m
v | No. 62 11.8 ~ No. 82 + 28| #u
v | No. 83 11.8 ~ No. 86 + 153
n | No. 88 13.3 ~ No. 90 + 17.5| 44.2
v | No. 92 4.6 ~ No. 94 + 13.3] 48.7
v | No. 95 18.6 ~ No. 99 + 1.7] 63. 1
n | No. 107 ~ No. 110 + 1.0 » 61.0
v | No. 119 2.8 ~ No. 129 + 18.0| 215.2
| No. 134 15,1 ~ No. 168 + 3.5/ # 668. 4
n | No. 179 8.0 ~ No. 180 " 12.0
ZER =) & m 1112.6
gt E B t 28.9 kg/m 26
RR ba—r (LY BE
2062 + 10 = Z 206. 2
& H m




BRETR WE BB
THR W= hE
o] b =R B o b5l T
Z [No. 8 + 34 AT
No. 89 B AT ZEIRH
No. 89 B AT FEES
No. 95 B A AV N S 1%
No. 95 B AT ZEEHER
No. 89 B AT FEES
No. 140 B AT REIRH
No. 145 B AT REEHER
No. 180 505 FEES
No. 180 B AT AV N d 1%
No. 185 B AT ZEIRH
No. 190 B AT REIRH
No. 140 [E17id ERRARE
BESHEEEF BE (50700
RBEEEN BE [E5lz00
BER BE KR [E5lz0
= &t [E51308




I

g B B =&

Al =1 B {1 = iR % i
j
No. 89 + 0.0 &l 1 LR B
FRF
No. 140 + 0.0 " 1 #L= B
[ERERE]
O 1.0
1.7
\ 4
sy (1#E&EY)
V= 1.0x1.0x1.7
= 1.7 m3 1.7

op
anh
[
in_{
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- BF1-B350-H235

W=

- BF1-B450-H295

W=

- US1-B240-H240

W=

=2/ Rl iR 1)

(

(

(

E5 9]

175kg /  2.000 m ) x
222 kg /  2.000 m ) x
177kg /  2.000 m ) x

kg / 1000 (kg/t)

t /  2.400 (t/m)
WY -MERNLEE

0.0m

0.0m

0.0m

0 kg

0 kg

0 kg

0 kg

0t




- kit

- Skt

- Skt

AV Y-rESAS 37

B500-L500-H500
W= 669 kg x 2 &

B600-L600-H400
W= 695 kg X 39 &

B600-L600-H600
W= 902 kg X 2 &

Wi= 30,247 kg / 1000 (kg/t)

v=" 30 t / 2.300 (t/m’)
WHY-MEGIEE

onh
—+

1,338 kg

217,105 kg

1,804 kg

30, 247 kg

30t

13 m




ﬁﬂ:l:l ﬂE% :I:E

2T
Al | R® Bl #H 2 HBEHEBE O OE
EBCEES
AR
x B =B EAs m’ | 21,000.479 21,000 [t=5¢m
= B AL EAs(20) n_ | 21,805.898 21,810 |t=5cm
trERRAE BERENE n | 22,127.210 22,130 t=10cm
INEEEE B4Y790%—73V RC-40 | 1 | 22552451 22,550 |t=32cm
PB4 —N—L (LY S TR EAs " 2,040.000 2,040 S P57 EB
BEHE RIS
K M ghLE EHEREAs t=4cm| m’ 272.800 273
HE I &% HHEAs t=4cm m’ 272.800 273
Bk B o —BAK m’ 268.900 269
IBER AL
BB O/ MRS BIEESM (RERM) | m3 0.016 0.016| £ 3R#E
BEEHM (hEE) m3 0.033 0.033 | ZIR4E
WET EEREMMEEIET
x B BAZHEAS13 m’ 100.0 100 [t=5cm
L EpEE BERERELE m’ 100.0 100 t=5cm




m B =
E (&) =2 B B LBk TEmEE
Al R BB OB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K

NO. 0+ 0.000 0.000 0.000 0. 000 0.000 0. 000 0. 000 0.000 0.000
NO. 0+ 0.000 0. 000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0. 000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0. 000 0. 000 0. 000 0.000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0.000 0. 000 0.000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0. 000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0.000 0. 000 0.000 0. 000 0.000 0. 000 0. 000 0.000 0. 000 0. 000
NO. 0+ 0.000 0.000 0.000 0. 000 0.000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0. 000 0.000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0. 000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0.000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0. 000 0. 000 0.000 0.000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0. 000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0. 000 0. 000 0. 000 0.000
NO. 0+ 0.000 0.000 0. 000 0. 000 0.000 0. 000 0.000 0.000 0.000 0.000 0. 000 0.000 0.000 0.000
NO. 0+ 0.000 0. 000 0. 000 0. 000 0. 000 0. 000 0.000 0. 000 0.000 0. 000 0. 000 0. 000 0. 000 0.000
NO. 88+ 15.251 0.000  10.300 5.150 0.000  10.700 5. 350 0.000  10.900 5. 450 0.000  11.100 5.550 0.000
NO. 89+  0.000 4.749  10.300  10.300 48.915  10.700,  10.700 50.814 ~ 10.900  10.900 51.764  11.100  11.100 52.714
NO. 90+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.100 11.100,  222.000
NO. 91+ 0.000 20.000 10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 11.000  220.000
NO. 92+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 93+ 0.000 20.000 10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900,  218.000
NO. 94+ 0.000 20.000 10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000/ 10.950  219.000
NO. 95+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.950  219.000

N B 124.749 1284.915 1334.814 1359. 764 1368. 714




m B =
E (&) 2 B B LBk T
Al R BB OB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K
NO. 95+  0.000 10. 300 0.000  10.700 0.000  10.900 0.000  10.900 0.000
NO. 96+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 97+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000 10.900 10.900,  218.000
NO. 98+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.450  10.675  213.500, 11.000/ 10.950  219.000
NO. 98+ 13.500  13.500  10.300  10.300  139.050  10.700  10.700  144.450  10.450  10.450  141.075] 11.000/ 11.000/  148.500
NO. 98+ 13.500 0.000  10.420  10.360 0.000  10.420  10.560 0.000  10.450  10.450 0.000  10.450  10.725 0. 000
NO. 99+  0.000 6.500, 10.420,  10.420 67.730  10.420  10.420 67.730  10.900  10.675 69.388  10.450  10.450 67.925
NO. 99+  4.700 4.700  10.420  10.420 48.974)  10.420)  10.420 48.974)  10.900,  10.900 51.230  10.900  10.675 50. 173
NO. 99+  4.700 0.000  10.300  10.360 0.000 10.700/  10.560 0.000  10.900  10.900 0.000  10.900  10.900 0.000
NO. 100+ 0.000  15.300  10.300  10.300  157.590  10.700  10.700  163.710  10.900  10.900  166.770, 10.900, 10.900  166.770
NO. 100+ 10.578  10.578  10.300  10.300  108.953  10.700  10.700  113.185  10.900  10.900  115.300, 10.900 10.900  115.300
NO. 101+  0.000 9.422)  10.300,  10.300 97.047  10.700  10.700  100.815  10.900  10.900  102.700, 10.900  10.900  102.700
NO. 102+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 103+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900,  218.000
NO. 104+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900/ 10.900  218.000
NO. 105+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 106+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900,  218.000
NO. 107+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 108+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900,  218.000
NO. 109+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900  10.900  218.000
NO. 110+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000 10.900/ 10.900,  218.000
NO. 110+ 12.249  12.249  10.300  10.300  126.165 10.700  10.700  131.064  10.800  10.850  132.902| 10.900, 10.900  133.514
NO. 111+  0.000 1.751 10. 300/  10.300 79.835 10.700/  10.700 82.936  10.800  10.800 83. 711 10.900|  10.900 84.486
NO. 112+ 0.0000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 113+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 114+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000,  10.900 10.900  218.000
NO. 115+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900, 10.900,  218.000
NO. 116+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000




m B =
E (&) 2 B B LBk T
Al R BB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K
NO. 117+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 118+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
N B 460. 000 4739. 344 4918. 864 4986. 576 5012. 368




m B =
E (&) 2 B B LBk T
Al R BB OB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K

NO. 118+  0.000 10. 300 0.000  10.700 0.000  10.800 0.000  10.900 0.000
NO. 119+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 120+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900,  218.000
NO. 121+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 10.950  219.000
NO. 122+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 123+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 123+  2.249 2.249, 10.300,  10.300 23.165  10.700  10.700 24.064  10.800  10.800 24.289  11.000  11.000 24.739
NO. 124+ 0.000  17.751 10.300)  10.300/ 182.835  10.700/ 10.700/  189.936  10.800  10.800  191.711 11.000  11.000  195. 261
NO. 125+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 126+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 127+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 128+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 129+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.950  219.000
NO. 130+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 131+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 132+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 133+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 134+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 135+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900, 10.900  218.000
NO. 136+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 137+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 10.950  219.000
NO. 138+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 139+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 140+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 141+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 142+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.950  219.000

N 480. 000 4944.000 5136. 000 5184. 000 5258. 000




m B =
E (&) 2 B B LBk T
Al R BB OB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K

NO. 142+  0.000 10. 300 0.000  10.700 0.000  10.800 0.000  10.900 0.000
NO. 143+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 10.950  219.000
NO. 144+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 145+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 146+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 147+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 148+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 149+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 11.000  220.000
NO. 150+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 151+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 152+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 153+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 154+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 155+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 11.000  220.000
NO. 156+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 157+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 158+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 159+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 11.000  220.000
NO. 160+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 161+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 162+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 163+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000,  220.000
NO. 164+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000
NO. 164+ 11.281 11. 281 10.300)  10.300/  116.194] 10.700| 10.700|  120.707  10.800 ~ 10.800  121.835  11.000  11.000  124.091
NO. 165+  0.000 8.719  10.300  10.300 89.806  10.700  10.700 93.293  10.800  10.800 94.165  11.000  11.000 95.909
NO. 166+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000/ 11.000  220.000

N B 480. 000 4944.000 5136. 000 5184. 000 5279. 000




m B =
E (&) 2 B B LBk T
Al R BB OB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K

NO. 166+  0.000 10. 300 0.000  10.700 0.000  10.800 0.000  11.000 0.000
NO. 167+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 11.000 11.000  220.000
NO. 168+  0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.950  219.000
NO. 169+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 170+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 171+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900  218.000
NO. 172+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900 10.900,  218.000
NO. 173+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.800  10.800  216.000, 10.900  10.900  218.000
NO. 174+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.850  217.000, 10.900 10.900  218.000
NO. 175+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900  10.900  218.000
NO. 176+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900/ 10.900  218.000
NO. 177+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 177+  1.281 1.281 10.300|  10.300 13.194)  10.700|  10.700 13.707)  10.900|  10.900 13.963|  10.900|  10.900 13.963
NO. 177+  1.347 0.066  10.300  10.300 0.680  10.700  10.700 0.706  10.900  10.900 0.719  10.900/  10.900 0.719
NO. 178+ 0.000  18.653 ~ 10.300  10.300  192.126  10.700  10.700  199.587  10.900  10.900  203.318 10.900, 10.900  203.318
NO. 179+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900  218.000
NO. 180+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.900,  218.000
NO. 181+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000 10.950  219.000
NO. 182+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000/ 11.000  220.000
NO. 183+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000 11.000  220.000
NO. 184+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000/ 11.000  220.000
NO. 185+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000 11.000,  220.000
NO. 186+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 10.900 10.950  219.000
NO. 187+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000/  10.950  219.000
NO. 187+ 17.419  17.419  10.300, 10.300, 179.416  10.700  10.700,  186.383 ~ 10.900  10.900,  189.867  11.000  11.000  191.609
NO. 188+  0.000 2. 581 10.300|  10.300 26.584  10.700  10.700 27.617  10.900  10.900 28.133  11.000  11.000 28. 391

N B 440. 000 4532. 000 4708. 000 4781.000 4812. 000




m B =
®x B (B 2 B B LBk T
Al R BB W1 w2 w3 W4
2 kK THE @ B L kK THR B B L kK THERE @ B WHEE TuwE K

NO. 188+  0.000 10. 300 0.000  10.700 0.000  10.900 0.000  11.000 0.000
NO. 189+ 0.000 20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000 11.000,  220.000
NO. 190+ 0.000  20.000  10.300  10.300  206.000  10.700  10.700  214.000  10.900  10.900  218.000, 11.000/ 11.000  220.000
NO. 191+  0.000  20.000
NO. 192+  0.000  20.000
NO. 193+  0.000  20.000
NO. 194+  0.000  20.000
NO. 195+  0.000  20.000
NO. 196+  0.000  20.000
NO. 197+  0.000  20.000
NO. 198+  0.000  20.000
NO. 199+  0.000  20.000
NO. 199+ 18.110 18.110
NO. 200+  0.000 1.890

i g 240. 000 412. 000 428. 000 436. 000 440. 000

a B 2224.749 20856. 259 21661.678 21931. 340 22170. 082




R OHOE B

8 5 PR BEF T EIT-N 1A
bl = BB
B Kk OFHE B W

0+ 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000

0+ 0.000 0. 000

0+ 0.000 0.000
87+  0.000 0. 000
88 + 0.000 0.000 1.000
89+ 0.000  20.000 1.000 1.000 20. 000
90+ 0.000  20.000 1.000 1. 000 20. 000
91+ 0.000/ 20.000 1.000 1.000 20. 000
92+ 0.000  20.000 1. 000 1. 000 20. 000
93+ 0.000/ 20.000 1.000 1.000 20. 000
94+ 0.000  20.000 1. 000 1. 000 20. 000
95+ 0.000/ 20.000 1.000 1.000 20. 000

H B 140. 000 140. 000




%

8 5t R BER T - LA

bl = BB
Bk TFHE @ W&

NO. 95+  0.000 1.000
NO. 96+ 0.000  20.000 1.000 1.000 20. 000
NO. 97+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 98+ 0.000  20.000 1.000 1.000 20. 000
NO. 99+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 100+ 0.000  20.000 1.000 1.000 20. 000
NO. 100+ 10.578  10.578 1. 000 1. 000 10.578
NO. 101+  0.000 9.422 1.000 1.000 9.422
NO. 102+  0.000  20.000 1. 000 1. 000 20. 000
NO. 103+ 0.000  20.000 1.000 1.000 20. 000
NO. 104+ 0.000  20.000 1.000 1. 000 20. 000
NO. 105+ 0.000  20.000 1.000 1.000 20. 000
NO. 106+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 107+ 0.000  20.000 1.000 1.000 20. 000
NO. 108+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 109+ 0.000  20.000 1.000 1.000 20. 000
NO. 110+  0.000  20.000 1.000 1. 000 20. 000
NO. 110+ 12.249  12.249 1.000 1.000 12. 249
NO. 111+  0.000 1. 751 1. 000 1. 000 1.751
NO. 112+ 0.000  20.000 1.000 1.000 20. 000
NO. 113+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 114+ 0.000  20.000 1.000 1.000 20. 000
NO. 115+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 116+ 0.000  20.000 1.000 1.000 20. 000
NO. 117+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 118+ 0.000  20.000 1.000 1.000 20. 000

H &t 460. 000 460. 000




%

8 5t R BER T - LA

bl = BB
Bk TFHE @ W&

NO. 118+  0.000 1.000
NO. 119+ 0.000  20.000 1.000 1.000 20. 000
NO. 120+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 121+ 0.000  20.000 1.000 1.000 20. 000
NO. 122+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 123+ 0.000  20.000 1.000 1.000 20. 000
NO. 123+  2.249 2.249 1. 000 1. 000 2.249
NO. 124+ 0.000 17.751 1.000 1.000 17.751
NO. 125+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 126+ 0.000  20.000 1.000 1.000 20. 000
NO. 127+ 0.000  20.000 1.000 1. 000 20. 000
NO. 128 + 0.000  20.000 1.000 1.000 20. 000
NO. 129+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 130+ 0.000  20.000 1.000 1.000 20. 000
NO. 131+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 132+ 0.000  20.000 1.000 1.000 20. 000
NO. 133+ 0.000  20.000 1.000 1. 000 20. 000
NO. 134+ 0.000  20.000 1.000 1.000 20. 000
NO. 135+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 136+ 0.000  20.000 1.000 1.000 20. 000
NO. 137+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 138+ 0.000  20.000 1.000 1.000 20. 000
NO. 139+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 140+ 0.000  20.000 1.000 1.000 20. 000
NO. 141+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 142+ 0.000  20.000 1.000 1.000 20. 000

H &t 480. 000 480. 000




%
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bl R BB
Bk TFHE @ W&

NO. 142+  0.000 1.000
NO. 143+ 0.000  20.000 1.000 1.000 20. 000
NO. 144+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 145+ 0.000  20.000 1.000 1.000 20. 000
NO. 146+  0.000  20.000 1. 000 1. 000 20. 000
NO. 147+ 0.000  20.000 1.000 1.000 20. 000
NO. 148+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 149+ 0.000  20.000 1.000 1.000 20. 000
NO. 150+  0.000  20.000 1. 000 1. 000 20. 000
NO. 151+ 0.000  20.000 1.000 1.000 20. 000
NO. 152+  0.000  20.000 1.000 1. 000 20. 000
NO. 153+ 0.000  20.000 1.000 1.000 20. 000
NO. 154+  0.000  20.000 1. 000 1. 000 20. 000
NO. 155+ 0.000  20.000 1.000 1.000 20. 000
NO. 156+  0.000  20.000 1. 000 1. 000 20. 000
NO. 157+ 0.000  20.000 1.000 1.000 20. 000
NO. 158+ 0.000  20.000 1.000 1. 000 20. 000
NO. 159+ 0.000  20.000 1.000 1.000 20. 000
NO. 160+  0.000  20.000 1. 000 1. 000 20. 000
NO. 161+ 0.000  20.000 1.000 1.000 20. 000
NO. 162+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 163+ 0.000  20.000 1.000 1.000 20. 000
NO. 164+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 164 + 11.281 11.281 1.000 1.000 11. 281
NO. 165+  0.000 8.719 1. 000 1. 000 8.719
NO. 166+ 0.000  20.000 1.000 1.000 20. 000

H B 480. 000 480. 000
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bl BB
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NO. 166 +  0.000 1.000
NO. 167+ 0.000  20.000 1.000 1.000 20. 000
NO. 168+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 169+ 0.000  20.000 1.000 1.000 20. 000
NO. 170+  0.000  20.000 1. 000 1. 000 20. 000
NO. 171+ 0.000  20.000 1.000 1.000 20. 000
NO. 172+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 173+ 0.000  20.000 1.000 1.000 20. 000
NO. 174+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 175+ 0.000  20.000 1.000 1.000 20. 000
NO. 176+ 0.000  20.000 1.000 1. 000 20. 000
NO. 177+ 0.000  20.000 1.000 1.000 20. 000
NO. 177+  1.281 1.281 1. 000 1. 000 1.281
NO. 177+  1.347 0. 066 1.000 1.000 0. 066
NO. 178+ 0.000  18.653 1. 000 1. 000 18. 653
NO. 179+ 0.000  20.000 1.000 1.000 20. 000
NO. 180+  0.000  20.000 1.000 1. 000 20. 000
NO. 181+ 0.000  20.000 1.000 1.000 20. 000
NO. 182+  0.000  20.000 1. 000 1. 000 20. 000
NO. 183+ 0.000  20.000 1.000 1.000 20. 000
NO. 184+ 0.000  20.000 1. 000 1. 000 20. 000
NO. 185+ 0.000  20.000 1.000 1.000 20. 000
NO. 186+  0.000  20.000 1. 000 1. 000 20. 000
NO. 187+ 0.000  20.000 1.000 1.000 20. 000
NO. 187+ 17.419  17.419 1. 000 1. 000 17.419
NO. 188 +  0.000 2. 581 1.000 1.000 2. 581

H &t 440. 000 440. 000




%
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bl = BB
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NO. 188+  0.000 1. 000
NO. 189+  0.000  20.000 1.000 1. 000 20. 000
NO. 190+  0.000  20.000 1. 000 1. 000 20. 000
NO. 191+  0.000  20.000
NO. 192+  0.000  20.000
NO. 193+ 0.000  20.000
NO. 194+ 0.000  20.000
NO. 195+  0.000  20.000
NO. 196 +  0.000
NO. 197 +  0.000
NO. 198 +  0.000
NO. 199+  0.000
NO. 199+ 18.110
NO. 200+  0.000

H &t 140. 000 40. 000

=] Hi 2140. 000 2040. 000




HETINRE EEfHE AR

H H &t g =S =¥ iva # =
WETI
[, =#htthEAs t=bcm]
A1= 20856.259 (EH#EHEELVY)
+144. 220 (hR4EEFREOER) = 21000. 479| m? 21000. 479
[E[E, #HIEEAs (20)s t=5cm]
A2= 21661.678 (EHEHEELVY)
+144. 220 (R EEFREOER) = 21805.898| m? 21805. 898
(L=, BEERENE t=10cm]
A= 21931.340 (mi#EHEE EEKY) = 21931. 340
- R
) FYRERIELE
L1= NO. 88 + 6.800 ~ NO.90 + 16.600 = 49. 800
L2= NO.93 + 11.500 ~ NO.94 + 16.100 = 24. 600
L3= NO.97 + 6.900 ~ NO.98 + 13.500 = 26. 600
L4= NO.121 + 0.000 ~ NO.128 + 0.200 = 140. 200
L5= NO.135 + 10.700 ~ NO.141 + 6.000 = 115. 300
L6= NO.142 + 14.200 ~ NO.167 + 13.000 = 498. 800
L7= NO.180 + 13.900 ~ NO.183 + 1.100 = 47.200
L8= NO.183 + 4.200 ~ NO.185 + 18.600 = 54. 400
L9= NO.186 + 12.300 ~ NO.190 + 0.000 = 67.700
2L = 1024.600 m
a= 1/2 % (0.000 + 0.100) x 0.100 = 0.005 m
V=" 0.005 x 1024.600 = 5123 m°
t=10cmia &
A3= 5.123 = 0.100 = 51.230
HTYRAERAELE
L2= NO. 88 + 6.800 ~ NO.90 + 10.000 = 43. 200
2L = 43.200 m
a= 1/2 % (0.000 + 0.100) x 0.100 = 0.005 m
V= 0.005 x 43.200 0.216 m
t=10cmit &
AS= 0.216 = 0.100 = 2.160
5) FY#EAREIT Oy EEREY
L1= NO. 95 + 3.800 ~ NO.97 + 2.200 = 38. 400
2L = 38.400 m
A6= 38.400 x 0.100 = 3. 840
6) FRABEFROER
A7= 138. 640 = 138. 640
SA= 22127.210| m? 22127. 210
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[TRERREE, /79y%-3v C-40 t=32cm]
A= 22170.082 (m#EHEE: &VY)

2) TYMRAERIELE
L= 1024.600 m (LERAEELY)

a= 1/2 x (0.000 + 0.320) x 0.320

V="0.051 x 1024.600

t=32cmif &
A3= 52.255 + 0.320

4 T YRERAIELE
L= 43.200 m (LERREXY)

a= 1/2 x (0.000 + 0.320) x 0.320
V="0.051 x  43.200

t=32cmif &
A= 2.203 + 0.320

5) FYHRAAIT Oy o iEHEE
L= 38.400 m (LERREELY)
A6= 38.400 x 0.400

6)O—JL FH Y2 —FZER

L2= NO. 111 + 0.000 ~ NO.177 + 10.000
ZL

a=  1/2 x 0.170 x 0.170
V="0.014 x 1330.000

t=32cmi &
A7= 18.620 = 0.320

7) RS BEHEOER
A8= 138.640

BANEBHERIET
®x= B BETHEA 13 t=5cm
LERE ssEszens t=5¢cm

0. 051
52. 255

0. 051
2.203

1330.000  m

1330. 000

0.014
18. 620

ZA=

22170. 082

2

m3

163. 297

2

mS

6. 884

15. 360

58.188

138. 640

22552. 451

100.0
100.0

22552. 451

100
100
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6. {HiEEET
OR:EDEEIS

BiEEY c IRIRFEREY
L= 11.02+1097 = 2199 m
To5A<—# 3 - (FERE-= 0.5 kg/m?)
AMEl: W1 = {0.400+(0.040+0.040)/2x2} x 11.020 X 0.5 = 26
A28: W2 = {0.400+(0.124+0.120)/2x 2} x 10.970 X 0.5 = 35
SW = 6.1 kg
E iS4t cdLRTAI7ILE
A1l V1= {0.400x(0.040+0.040)/2} x 1.000 X 1.0 =1 0016
A28  v2= {0.400x(0.080+0.084)/2} x 1.000 X 1.0 =1 0033
SV o= 0049 m?
cdALRTAI7ILNEIRIRY)
A1l V1= {0.400x(0.000+0.000)/2} x 11.020 X 1.1 = 0.000
A28 V2= {0.400x(0.040+0.040)/2} x 10.970 X 1.1 = 0193
SV o= 0.193 m°
o— )L )avRk
ATEIGE): V1= 1/2x(0.088+0.048) X 0.020 X (1.424+1.429) X 1,000 X 1.1 = 43
A2{I(H#1): V3= 1/2x(0.088+0.048) x 0.020 X (1.428+1.424) X 1,000 X 1.1 = 43
SV = 86 L
Toh—Ffh : SD345, D13
TE(ESE w= 0.249 x 96 = 24 kg
LEBATED  wi= 0.249 X 48 = 12
LEBA2€AD) w2 = 0.249 X 48 = 12
Sw = 24 kg



HERER (1/3)
T 1 A t 1 [2a] % 8 o9 % =
FHT AER-1
FHTARH fh#r (G2-G9) PCHZE R AR, 353 & K 8
5147 (G1, G10 " X 2
ETAVNERE Fh i L = 8.553m t/& 15. 4
(62-G9) L = 9.000m t/& 15.0
L = 8.553m t/& 15.4 45. 8t/ 47
I L = 8.553m t/& 15. 4
(G1, G10) L = 9.000m t/& 15.0
L = 8.553m t/& 15.4 45. 8t/ 47
PCr—JILT 2200kNE! (12812. 7B) | ke/#f 956
avy ) — bEE m?/ & 35.2
BERE=E t/:E 458.0
AT
avoy—+rI o ck=30N/mm’ m’ 33. 1 EiE:)
BT m? 27.5
T BERT 570kNE! | F#Hs X 32
PCr—JIL SWPR19L 1S21. 8mm m 358. 5 w=889kg
S—2 SPCC ¢ 35/38 m 56. 5 #it5
559k ¢35 m 56. 5
b 42 m 301. 9
Bi5T BIE RS m 52.2
XAEL
O LX A& Fix Rmax=484kN, w=450kg (Fix)| {& 10
(£81F) Mov Rmax=484kN, w=421kg (Mov)| {& 10
BEEILAIL B|ULEEILZ L m’ 1.48




MERER (2/3)
T ] A t 1 [2a] % 8 P09 5 =
HE - BEET
avyy—rI o ck=24N,/mm’ m° 34.87 W, SR
BT m 181. 8
AT (—AREXAR) D13 SD345 t 3. 007
D16-D25 " t 1.185
H " t 4.192
SRER T (BEHA) D13 " t 0.010
AT (B4 D16 " t 0.214
Rt F D16/ & 108
49—k M6, €599 X & 108
Bih T =L S — L# L 6.6
Bl R FE AR t = 20mm m? 0.8
FEEEM IR m? 67.5
WET
HEE Eral B AR (HOKHEAS T t=40, BHIEAS T S 1=40) m2 272.8 273.0 |prvrtoas
HEREREM BHETRAI7ILMES m’ 1.5
BF/KT
YNE HiEH o—t+% m? 268.9 | 269.0
P bR K 2 | 018 [2TUrHrvLaABR[ m 25.2
im R AL 2 m 51.9
HEkT
SHALHEKE 200B x 60h (SS400, FghA v )| m 24.97 > w=847kg
BEEILAIL m 0.282 BETLALAG
RERE (ZIFTR) SS400, STK400, EEn A v | » 1 > w=3bkg
RUYI—tAV FEILEL L 1.4
HKE SS400, STK400, Fgn A v | kg 111
fhiEHEF ¢ 150/ & 1
XEEE SS400, Fa A v+ ke 24
_R—=IA T oh— SS400, M12 x 100 & 8
(LRSS SD345 , D13 t 0. 007




HERER (3/3)

T 1 A | t 1 [2a] % 8 P09 5 =
EEET
2 FRERFEIRE . 40w | m 21.99
F543—# BEIR ke 6.1
SEMEE M JLRTAI7IL bk m’ 0.590
TLRTRAT 7L GIRE) | o 0.193
- SHavk L 8.6
T oh— SD345 , D13 kg 24 TEREA
kg 24 L ERIEA
BET (V1 ST BEE)
& T Y05 LAt fM& , H=1000 m 43.3 REmsR
S e $M3  B=1100 n? 32.5 HESHE
BET
XM SUS304, SUS30448 4 T kg 273
A=k Iy s X, M2x60| & 88




5. KT
(1) EESHHE

10643
6017 4626
FAI7IL hE%
t=80mm
3 ; ! : &
@V
[ee)
R ER I
FTRAIT7IL FFEEE t = 80 mm
- W : S HEEESESE (HEK MEAs O L t=40, BRI EEAs O 2 1=40)
Al = 10.643x26.100 ©® = 277.782
WRHKEER: -A2 = 0.200 % 24. 964 = -4.993
= 272.789 n?
G BmEBRHY b+ T7ED
- BECEREA : WL7RAI7Z7IL N ERETRAI77IL MEEW)
FHE;  t= | 1/2x(86+86) x6017 + 1/2 x (86+86) x 4626) }
/ 10643 - 80 = 6 mm
BEEGEE: V1= 272.789x0.006 = 1.637
MERER: V2 = HKIBHBEGEELILY) P = -0.167 o’
1.470 e

GE): EE (BHEAsD Ut=40) BOERLED



6. fHKT

(1) BAKE
HEE —F+%
Al = 10.643x25.736 = 273.908
sHEEER: A2 = 0.200x24. 964 = -4.993
= 268.915 p?
(2) RIRFREKE
iR o RATYUT Ay 1 EES
- HEER 118 L= 2517 = 25.2 m

Q) ImRAIE (B HNEST)

- BHERR L 26.15 + 25.74 = 51.9 m



BHEIRBERER

T AEFER] fHE JRAE AL Al A2 &t kS
a7 — MK o ck=24N/mm2 m° 45.3 45.7 91.0
ARl m? 7.1 6.1 13.2

D10 kg 12 12 24
» D13 kg 871 874 1,745|SD345
SRAHHE & [S#5 |
ifA AR D16~D25 kg 5,791 5,769 11,560]
& kg 6,674 6,655 13,329
TLTK t=20mm m? 2.2 2.2 4.4
B bt t=20mm m? 10.7 11.8 22.5
~ AF VRIERFE S AT 2347 |40A L=170 PN 21 21 42
B R -
TN =%y A40 X 200 & 21 21 42
PR m? 124.4 125.5 249.9
LR m 10.5 10.6 21.1
HAIN— D29 L=700 A 26 26 52
S A S— D13 L=10000 A 4 4 8
R T
FrT— D13 W=500 X H200 A 26 26 52
VEA B Hikf t=8mm m? 0.4 0.4 0.8
JTv 78 |H=50mm m 10.5 10.6 21.1
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N o wumy] b — e
eoN [/ a E? b A=y — KRG
8'GET \ oot /| TERSE L -
8'GeT : w TEEET TRy
gl O\ . TEF
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e ¢ FRELh
e ¢ FROESE
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Al BSHR T

1. B#ERRT

(1) =7 —bARE
1/2>(0.150+0.400) % 5.000 X 10.456

1/2X(6.000+8.802) X 10.456 X 0.400

(2) Bk
0.150 % 10.456
1/2%(0.150+0.295) X 2.891

1/2%(0.150+0.400) X 5.000+0.400 X 8.802

(3) PER

= 14.38

= 30.95

Y= 45.33

— 453

= 1.57

= 0.64

= 4.90

T (HA  kg)
s FERVH = A2 5
Sl e hat
D32 0 0
D29 0

D25 | 2,148 2,148

D22 | 3,643 3,643

o5 5 5,791
D16 0

D13 361 | 510 871 871
D10 12 12 12
&8F 16,164 510 6,674 6,674

(4) =537k (t=20mm)

10.840<0.200

(5) HHAT (t=20mm)
1/2%(0.295+0.400) X 2.109+0.400 X 6.000

(0.420+0.280) X 10.840

xX= T1.11

- 7.1

= 217

= 3.13

= 7.59

X= 10.72
- 10.7




(6) ~AF 7RI EE TR AV T A RAT (A40 L=170)

21

(7) 7o H—F%v7 (A40X200)

21

(8) HEHEAR
10.456 < 5.000

1/2X(5.498+8.305) X 10.456

(9) BiHE#T

D) fEfR

2) ZANN— (SVIEDHANETP)
3) JrAN—

4) F=7—

5) EAH H#H (t=8mm)

6) 77 e

(10) 727 7 /L (t=100~103mm)
5.000x<10.456

1/2%(6.000+8.802) X 10.456

D29 =700

D13 1.=10000

D13 W=500XH200

0.040X10.456

H=50

21

21
21

ol

= 52.28

= 72.16

Y= 124.44
— 1244 m?

L= 10.456 m
= 26 A
= 4 A
= 26 A
= 04 m’

= 105 m

= 52.28

= 77.38

X = 129.66
— 129.7 m®




ral

G000~ 8802

m

2109

5000

2891

fE{ThE

HeEFH X

SHOREE

.

&
o

2l

518

20mm

6000
5408
B t

—

—r B

—_—

2108

5000

2801

00001=00%252
96p01L

9501

700

& A si— D29

L

5000




A2 [E5HER T

1. BRI

(1) @ 7)—MER
1/2%(8.645+6.000) X 10.611 X 0.400

1/2%(0.400+0.150) X 5.000 X 10.611

(2) HUREiFE
0.150%10.611
0.400 < (0.784+3.602)

1/2%(0.400+0.150) X 5.000 X 2

(3) PER

31.08

14.59

45.67
45.7 m?

1.59
1.75

2.75

T (A : kg)
4% ERVH B A2 5
Sl e hat
D32 0 0
D29 0

D25 | 2,128 2,128

D22 | 3,641 3,641

o5 5 5,769
D16 0

D13 356 | 518 874 874
D10 12 12 12
&EF 16,137 518 6,655 6,655

(4) =LK (t=20mm)

10.977X0.200

(5) HHEF (t=20mm)
0.400 X 7.861
0.400 %X 2.398

(0.420+0.280) X 10.977

6.09

2.20

3.14

0.96

7.68

py

—

11.78
11.8 m?




(6) ~AF 7RI EE TR AV T A RAT (A40 L=170)

21

(1) T2 1—*%>7 (A40X200)

21

(8) HEHEAK
10.611 X 5.000

1/2X(8.151+5.505) X 10.611

(9) BEE T

1) ik

2) ZAN— (SIEDHSANET)
3) Z7EANN—

4) Fx=T—

5) EAH HiFF (t=8mm)

6) 77> A

(10) 727 7 /L (t=100~103mm)
1/2 X (8.645+6.000) X 10.611

5.000X10.611

D29 L=700

D13 L=10000

D13 W=500XH200

0.040X10.611

H=50

Lo

Lo

21
21 &

21
21 i

53.06

72.45

X = 125.51

—

L=

125.5 m*

10.611 m
26 A

4 A

26 A
0.4 m?

10.6 m

77.70

53.06

X = 130.76

—

130.8 m*
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il G000~ 8645 - 5000
FREHAR fa R
s /
/ /
E /
= §I\ — ——
g
\ 2341 2341
\ B
F m
1 8645 5000
1861 184
[485 8151
=
A
4&% o %,
-l %
#WE® T
I 2s
T &
I = g
o S
I &
S/ / Y
| T .r
B [t=20mm A 23— D29
L=100
495 5505
2398 3602
1 6000 5000




ERT

A2tEE {8 I NO088+2.561 (A2KEE) ~No88+15.251 F O Ea et 75
+T4EE L.=12.690m

1. I
(1) FRHED

0.1X12.690 = 1.27

(2) BEEREET (4.0m=W)

12.0X12.690 = 152.28
- 152.3

(3) BEIARE T (4.0m=W)

28.0X12.690 = 355.32
— 355.3

(4) HEL
0 = 0.00
— 0.0

(5) HEJF L

0.2X12.690 = 2.54

(6) Wt

0.2 X12.690 = 2.54

2. ZEIT
(1) #&+¥E=m

6.9 X 12.690 = 87.56
— B87.6 mz




I

2IRX
B % B BHHIRE B B
FAHh—T

1,960.0

Hoisi




FAA—T ERFE

x {8l bl = IR - EH A 1 b = TR - B
No. 88+ 0. No. 90 + 14.3 38.4
No. 90 + 15. No. 92+ 9.4 33.9
No. 92 + 10. No. 94+ 9.3 38.17
No. 94 + 10. No. 96+ 4.4 33.9
No. 96 + 5. No. 97+ 19.4 33.8
No. 98+ 0. No. 98+ 14.4 13.8
No. 98 + 15. No. 101 + 14.4 b8.8
No. 101 + 15. No. 102 + 19.4 23.8
No. 103 + 0. No. 104 + 1.0 20.4
No. 104 + 2. No. 105 + 4.4 22.2
No. 105 + 5. No. 106 + 9.4 23.8
No. 106 + 10. No. 108 + 9.4 38.8
No. 108 + 10. No. 110+ 9.4 38.8

N B 419. 1 N B -

E A A& f E K




FAA—T ERFE
x Al bl = IR - EH A 1 b = TR - B
No. 110 + 10.6 No. 112 + 19.4 48.8
No. 113+ 0.6 No. 115+ 9.4 49.0
No. 1156 + 10.6 No. 117 + 19.4 49.1
No. 118 + 0.6 No. 119+ 1.4 20.8
No. 119+ 2.6 No. 120+ 9.4 26.8
No. 120 + 10.6 No. 121 + 19.4 28.8
No.122 + 0.6 No. 123+ 5.4 24.8
No. 123 + 6.6 No. 130 + 19.6 153.0
No. 131+ 0.6 No. 133+ 4.4 48.8
No. 133 + 10.6 No. 136 + 0.9 50.3
No. 136 + 2.1 No. 165 + 4.4 550.7
No. 166+ 5.6 No. 167 + 19.4 53.8
No. 168 + 0.4 No. 170 + 9.6 49.2
No. 170 + 10.4 No. 172 + 9.7 39.3
No. 172 + 10.9 No. 174 + 19.6 48.7
No. 175+ 0.8 No. 177+ 9.4 48.6
No. 177 + 10.6 No. 178 + 19.4 28.8
No. 179+ 0.6 No. 180+ 0.0 19.4
No. 180 + 0.0 No.190 + 0.0 200.0
N B 1,538.7 N B -
E A A& f E K 1,957.8




ST Ry S e
2TRX
15 B i ol 7] % BEf| B B R LEEE R 0B
BRI T
A—FKL—L Gr-A-2B m 29.1 29.0
Gr-A-4E " 869.7 870.0
Gr-Am-4E " 1,971.5 1,978.0
Gr—Am-Mo " 50.0 50.0

2,927.0




Bregsft T IEREAE

Gr-A-2B
i fa1 el - EE - B e fa il - TR - B
No. 98+13.5 ~ No. 99+ 4.7 1.1
No. 109 + 0.0 ~ No. 109 + 18.0 18.0
I\ 5 29.1 I £ -
E A & i E R 29.1




fhE&HR T ERRE
Gr—Am-4E
T {81 Al =1 EE - B ¥ L Al = EE - B
No. 88 + 12.5 ~ No. 176 + 0.0 1,747.5
No. 176 + 0.0 ~ No. 176 + 15.0 15.0
No. 179 + 5.0 ~ No. 190+ 0.0 215.0
I - I 5 1,977.5
E BH5 & i & E 1,977.5




& T EERE
Gr—Am-Mo
= 1 bl = ER - B a il bl R ER - B
No. 176 + 15.0 ~ No. 179+ 5.0 50.0
1N H - N B 50.0
E A & i E R 50. 0




Bregsft T IEREAE

Gr-A-4E
x 18 pil| R ER - B a 1 Al = ER - A
88+ 9.5 ~ No. 90+ 16.6 47.1
93 +11.5 ~ No. 94+ 16.1 24.6
. 122 +13.5 ~ No. 128 + 0.7 107.2
. 135+10.7 ~ No. 141+ 6.0 115.3
. 142 +13.9 ~ No. 163+ 0.2 406. 3
. 180+ 13.9 ~ No. 183+ 1.1 47.2
. 183+ 4.2 ~ No. 185 + 18.6 94. 4
. 186 +12.4  ~ No. 190+ 0.0 67.6
N H 869.7 N H -

E A

op

3 E E 869. 7




2T

Al Al 3] M B E HEtEEBE W =
j: Fh R 5 B m 1,947.5 1,948
3 WNRL FYRGRR R 1.0 1
At TUMHRM2 @ 1.0 1
™
I
AR m 1,160. 8 1,161
v
| 4
Ly
Il
N
B S 5 L AR #® 509. 0 509
B
ﬁlﬁ
;]
ik

R




Fh o 5 Bt ERIFE
i {1 A =4 ERK - @ a" {81 A = EE - B
No. 88 + 12.5 ~ No. 176 + 0.0 1,747.5
No. 180 + 0.0 ~ No. 190+ 0.0 200. 00
/N - I H 1,947.5
E A & it &8 E 1,947.5




a9 )—k—)L

IEREASE

V. il bl = ER - EH% a 1l bl = ER - A%
No. 90 + 16.6 No. 93 + 11.5 54.9
No. 94 + 16.1 No. 122 + 13.5 557.4
No. 128 + 0.7 No. 135 + 10.7 150.0
No. 141 + 6.0 No. 142 + 13.9 27.9
No. 163 + 0.2 No. 180 + 0.0 339.8
No. 180 + 0.0 No. 180 + 13.9 13.9
No. 183 + 1.1 No. 183 + 4.2 3.1
No. 185 + 18.6 No. 186 + 12. 4 13.8

I & 1,160.8 I & -

E A At B R 1,160. 8




B LA LE R EREAE
i {1 Al =1 EE - B
No. 88+ 4.0 ~ No. 190+ 0.0 2,036 2,036 -+ 4 509 ®

I

I©

op

509.0




é =T =
2T
Al Al B % B E REtEtLEEE W =
RIRFER thHAER) Gl 49 49
3 BEGrETA (Bf) AT 31 31
}% hGrETR (BR)  ERT 150 150
B4 #wEwA (ae) | B 4 4 BRERLEC
BEYA BH) Gl 4 4 ERERLED




THH (BR) GrA (Bf) IERRE
EE - B
Al Al J=1 - @
Vi3 18 | EE - A% T Gr
No. 86+ 17.8 No. 100 + 0.0 262.2 262.2 -+ 40 = i 7. 0
No. 100 + 0.0 No. 123+ 0.0 460.0 460.0 —+ 22 = 2 211 0
No. 123 + 0.0 No. 164 + 0.0 820.0 820.0 -+ 35 = 24 6 18
No. 164 + 0.0 No. 188 + 0.0 480.0 480.0 —+ 22 = 22 14 8
No. 188 + 0.0 No. 190 + 0.0 40.0 40.0 + 40 = 1 1.5
Ih g Ih g 49 | 31
& § 80.0




maG6rA (FBf) ERRE
@ @ A mR-mm Lk A%

2L—>

No. 86 + 17.8 No. 100 + 0.0 262.2 262.2 40 = 7 x2 14
No. 100 + 0.0 No. 123+ 0.0 460.0 460.0 22 = 21 X2 42
No. 123 + 0.0 No. 164 + 0.0 820.0 820.0 35 = 24 X2 48
No.164 + 0.0 No. 188 + 0.0 480.0 480.0 22 = 22 x2 44

No. 188 + 0.0 No. 190 + 0.0 40.0 40.0 40 = 1 x2 2
I H I g 150
& F 150.0




Elie TS s
2T
&5l oAl pS I ==X (va 2 HitiisE =
NAARBER(FYR) ot 824.9 820
" bmﬁéﬁﬁgﬁgﬁzocm " 41244 4,120
NAARREHR (LY RRET & m 824.9 820

H 55 & X

JNEAEVEEAR. B, 15cm

9,760




RE#RTRARE

= it £l 2 B|

Gl

NANKRERR (TYHR)
[E#RIZAR. B, 5. 15cm]
NO. 86+17. 8~NO0. 190+ 0.0 (L) L=2062.2x0.4 = 824.88 m

2L=| m | 824.88

(E&ESMARR. R#R. 8. 20cm]

NO. 86+17. 8~N0. 190+ 0.0 (L) L= 2062.20 m
NO. 86+17. 8~N0. 190+ 0.0 (h R R) L= 2062.20 m

ZL=[ m | 4124.40
NANMKRERR (EYHR)

[E#RIZFR. B, 5. 15cm]
NO. 86+17. 8~NO0. 190+ 0.0 (L) L=2062.2x0.4 = 824.88 m

2L=| m | 824.88




{REET

2T
H Al b3} 1% B ¥ 2 REELEHE B =
REZEH—KL—IL
HEEGA— KL—LBE m 1, 240 1,240 HiR 6~ A
HRER H— KL—ILEEE | m 825 825 HiM 6~ A
=t 2,065 590Kg/5m- 1 £
IREEH B FR - £8) t 146.3 146 0.59
RBMIER (8= - A#) t 97.4 97 SEHEL=30km
RE&#EE & t 243
- 1524 x 6096 1524 x 6096
MEAREE - WX | 6og/kg  t=pomm "™ 520.8 21 9 amo/ak
HE 6~ A ® 56.0 56 9.3
IEHEL=30km t 89.8 90 1.604
1524 x 3048 0. 802/kg 1524 x 3048
£=22mn m2 9.3 O 4 e5mo/ik
HiM 64 A 5y 2 4.7
JEHEL=30km t 1.6 2 0.802
Hiktrmfs 5t m2 530
BRI (RYAR) & 51 XREH4 &
REMeaE (FdE) & t 92
HEZ2zVX TEE NN m 2,062.0 2,062 HiFM 64 A
IR EE S RRMER (G rIE- &5t 146 E##iL=30km
REHER (G r B - KiB) t 97 TE#EL=30km
RBRAER (BERRE - HE) t 92 FE#EL=30km
&t 189
RE&SAA (HRA) #HE t 146.0 BbHiAH
e (RH) #%E t 335.0 2HEE




& W {RE&h -l

(ZEX)
i
e —— - ——— P
filFoE
NEE=—————— sum
dla— i i i
. |.:.e-'..."e.&-be'e-:-e-.t-e-:.-l-.':—l ----------------- [Fallae o7a o ‘
na | 000 | G | o
G | g = =
REEHL - L—|msns (m)
(HTZ <)
[ 5l#t HREFAH=Z)
No89+0.0 ~ No.180f L = 825
INEF L = 825 825
[ FHERE HE]
No.87+0.0 ~ No.190+0.0f%] L = 1240
INET L = 1,240 1,240
YL = 2,065




PHEERE HAL R E| R sE i 2
No. 53 ~ No. 53 %N - -
No. 59 ~ No. 63 %N - -
No. 74 ~ No. 74 %N - -
No. 82 ~ No. 87 i - - FESRAEAL
No. 87 ~ No. 89 VN 8 Bz
No. 89 ~ No. 91 N 7| ESAEA2
No. 91 ~ No. 93 VN 7
No. 93 ~ No. 95 VN 8 Hrax
No. 95 ~ No. 96 VN 5
No. 96 ~ No. 99 %N 12 Brax
No. 99 ~ No. 107 N 33
No. 107 ~ No. 110 ZN 12 Brax
No. 110 ~ No. 119 N 37
No. 119 ~ No. 130 ZN 44 Hrax
No. 130 ~ No. 135 VN 20
No. 135 ~ No. 142 VN 28 Brax
No. 142 ~ No. 143 ¥iN 4
No. 143 ~ No. 147 ZN 16 Hrax
No. 147 ~ No. 148 N 4
No. 148 ~ No. 168 VN 80 Bz
No. 168 ~ No. 180 ¥iN 48
No. 180 ~ No. 190 ZN 40 Hrax

& i %= 248 165 5m,/ J&

JER: m 1, 240 825
At m 2, 065 Brax + s




EERT MEHEE

w7l =1 = B =
[ #%n )
ey N= 248 £ (1,240 = 5m= 248 %) 248 £
(Gr {=HER : H300) ® @ ®
1,240 m
Eimd N= 1= 1 =®
SEEE (1&£5m%7zY) W=590kg/% 590 kg/&
*EE W=590 kg/ix 248 £/ 1000 146.3  t
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